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SeXRALE P LPRUV EGLAI R WAL A ame

L P R e R R 6 aatfis 1. Which of the following is the most subjective
sufaafie fafig 7 method of educational psychology ?
(1) e (2) afedals (1) Observation (2) Extrospection
(3) pEitica (4) aradaty (3) Experimentation (4) Introspection
2. Uward an“g\u oo 3 Q e yfoa B 7 2, f\}lttrl(')t”l;x;::s;:;; i associated with which of
(1) e, freme 1 R (1) Cognitive Development Theory
(2) =raETE R (2) Behavioural Theory
(3) Wi feremm (3) Psychosexual Development
(4) s aftom frgrma (4) Social Learning Theory
3. iftrm ¥ war fi 3 @ g @ awen @ 1 3. Plateau in learning curve is caused due ¢
(1) %R T (1) Fatigue
(2) i gra (2) Motivation
(3) ®fwEm (3) Interest
(4) Sfitgesa g (4) Maturation
4. v fa e foRd AT ¥ e e e ? 4. Mirror Drawing Test is used to measure

(1) GTcHRaT =l
(2) AT =T =
(3) iR =

(4) sfermm i wfa =8

(1) Creativity

(2) Transfer of learning
(3) Interest

(4) Rate of learning

5. =en3s fuwe when fre d | fRas wo § ugad 5.

Cloud Picture Test is used to measure

TR ? which of the following ?
(1) sfgeqman (2) =afdaca (1) Aptitude (2) Personality
(3) e (4) gfa (3) Interest (4) Intelligence

6. Ui 94 o HIeH i qHTEeh 311 313 a9 8, Iaeh! 6. Five years old Mohan has mental age of
o afey forat 8 7 eight. What is his 1.Q. ?
(1) 140 (2) 160 (1) 140 (2) 160
(3) 135 (4) 150 (3) 135 (4) 150

7. TG FA-H AL F, T A, aTerehl H 7. Which 1.Q. range is called trainable 1.Q.
fs1eqm Amg A1, 99, T Feard g ! level of mentally retarded children ?
(1) 36-49 (1) 36-49
(2) 50 - 69 (2) 50 - 69
(3) 35vdE = (3) 35 and below
(4) 70-79 (4) 70-79
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(3) %1 i fteor

(4) &.u. 4.

7,8,9,10, 11, 12 %I 9<% &

(1) 10 2) 9

(3) 9.5 4) 8
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Rorschach ink blot test js
which of the following ?

used to measure

(1) Interest (2)
(3) Aptitude (4)

Intellipence

Personality

It is not the cause of forgetting

(1) Mental conflict

(2) Desire to remember

(3) Defective methods of remembering

(4) Under learning

The science which deals with the method

of collecting, classifying, presenting,

comparing and interpreting numerical data -
is called

(1) Geometry

(2) Mathematics

(3) Probability

(4) Statistics

Find the odd one out.
(I) Raven’s test

(2) 16-P.F.

(3) Draw a man test
(4) T.A.T.

The median of 7, 8, 9, 10, 11, 12 is
(1) 10 (2) 9
(3) 9.5 {4) 8

Who has propounded the theary of
insight ?

(1) Hegarty

(2) Gestalt Psychologist

(3) Skinner

(4) Thorndike

According to McDougall every instinct ig
associated with

(1) Sensation (2)
(38) Thinking

Emotion
(4) Cognition

Giving meaning to sensation on the basis
of past experience is called

(1) Motivation (2)
(3) Imagination

Perception
(4) Sensation

{PTO
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T aerai # fery, e wifel ) staumon frm
e

(1) = are

(2) 9

(3) fafer s

(4) M

Frest 1 & -1 e s e ) Rriarett &
fir=r 2 7
(1) =Egiem

(3) arfuenTan

(2) Aer

(4) forgaeefiaan
= 8 4 - afs g i 2 7
(1) weanTH =1 g

(2) T3 aca =1 fagr=

(3) wrgaca = fagra

(4) W& e o Tagra

Fr=fafaa § @ W st o adi 2 7
(1) wmaf

(2) gyt

(3) uraUse ufy

(4) e af

ToaTst & SYgar dTenes forehrg ) Rty arawen 3
(1) gd Gfsramenss raren

(2) =i d@imn srae

(3) W wfskan sraen

(4) TRATCHS TTH 3TET

T gt <l s yg@ frdar | S urft s R
(1) @i wifori | qen S=iTd 9 o B 2
(2) aw 9 aun fafeerat |

(3) ael el A

(4) hae wge

e w@feur H 6 - 14 2 % w=at & foe foyes
g fyemrd fren =1 st fe & wfie @

(1) 3T=ag 451

(2) og=ee 154

(3) wg=IE21A A

(4) =< 261
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Who has given the Concept of Educational
Quotient for backward children ?
(1) Burton Hall

(2) Schonell
(3) Cyril Burt
(4) Gorden

Which among the following is different from
characteristics of a good test ?

(1) Objectivity (2) Validity
(3) Aptitude (4) Reliability

Which of the following is not theory of
intelligence ?

(1) Theory of regression

(2) Two factor theory

(3) Multifactor theory

(4) Unifactor theory

Which one of the following is not ductless
glands ?

(1) Salivary glands

(2) Pituitary glands

(3) Thyroid glands

(4) Adrenal glands

According to Piaget the second stage of
cognitive development is

(1) Pre-operational stage

(2) Formal operations stage

(3) Concrete operations stage

(4) Sensory-motor stage

The main characteristic of basic instinct is
that which is found

(1) All organism and it is inborn and natural
(2) Only in Cats and Rats

(3) Only in Artists

(4) Only in human beings

The right to free and compulsory education
for children between age group of 6 — 14 has
been included in Indian Constitution as
(1) Article 45

(2) Article 15

(3) Article 21A

(4) Article 26

e
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23. Ml e =t fpsr 9 ﬁmﬂﬂ'@mﬁwﬁ?ﬁf 23. Kretschmer has classified the persons in

ﬁmﬂ%ﬁ one of the following main types
(1) TR (2) GEeT=HE (1) Picnic (2) Athletic
(3) A wf) (4) < (3) All of these (4) Asthenic
4 3 :
24. A3 w1 Ry = A frga 9T R 7 24. Purpose of T.E.T. is measure which of the
1) following ?
{{3) e (2) steman (1) Attitude (2) Aptitude
) (4) =ifge amwar (3) Values (4) Intelligence
25. W9 1 fagra e g forerhl s e 2 7 25. Consolidation theory explain which of the
- (1) Motivation (2) Memory
(3) {SHTeHAT (4) atftrmy (3) Creativity (4) Learning
26. ﬁm;ﬁ !!!fli[liﬁﬁmﬁnwﬁﬁmﬁaﬁnm 26. What is the factor influencing physical
kel i development in the following ?
(1) @ qg1 = (1) Sports and exercise
(2) Serer (2) Environment
(3) wmH AT (3) All of these
(4) ST (4) Heredity

27. @%aﬁﬁﬂ“mﬂﬂﬁ(q?ﬁﬂ%%ﬂﬁﬁ?ﬁ?%? 27. Which of the following is correct formula
to calculate 1.Q. ?

ELSICERIC
R L (1) C: X100
o) TREEHSY g ik
III-'-I|%1$32|T3 () —ﬁ
HITHh 3R]
M.A.
) IR 3G x 100 - (3 Tk an
A en
(4) __%xloo . (4) lgi 100

28. femrrs fraaHsaifmdafrmfe? 28. Who described ‘Reflective Thmkmg from

the following ?

(1) gead (2) T (1) Woodworth ~ (2) Ross

(3) T 4) et (3) Drever . - (4) Dewey
29.  STHHTCH deh % Tl A i e g 8 7 29. Which is not included in the levels of |

(1) i inductive reasoning ? -

) H'H'T'T' _ ; (1) Generalization

o ; ) (2) Experiment

(3) e i B (3) Imagination

(4) aagﬁa,—,[ , : (4) Observation ; :
30. e T @ F umaﬂ'{ngmﬁﬁm 80. Failure in retention and recall of learnt.- '

| S ) it content 57 S .

() oy (@) wd | (1) Retention _-._(2) Memory -

'(.3.) _._I__%‘,;'“ﬂ___;?_ % (4) ﬁﬂ:ﬂt"f% o (&_?hmk__mg. '(4): Forgetting ;
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W — II / PART - II
urar - I : %= / Language - I : HINDI

31. damﬁ:ﬁmmw%? 40. ‘vEaHTd o TOATHR B
(1) =urg (2) f (1) Ry e (2) =T
(3) =gshfe (4) &= @) TR (4) 1T
32. IENTETR FE AT 2 41, FH-WIHE IS ?
(1) ©g9a =ds@ = (1) wferai =t <er e ATEF © |
(2) R vd faet it (2) TR el 3 &l i st fean |
(3) YTV (3) &Il WHTA TH W 2 |
(4) wETIToT Y (4) EdiH - =9TE 3 A |
i 33. UF 3N IR wfE T SR | 42, fEmfiism-@afag?
f ﬁw@ﬁaﬁaﬂw@wz:{:l iy s B Y
FHETNES M (3) TmERY (4) < wfE
(1) aFE @ @) @ 43, ‘S @ gEiErE) e B .
(3) wHEI ™ 4) T3 () 8 (2)
34, Y faufe frer & e | )a: . dlariptlLE
: ?
i T E@gﬁﬂ@m% 44, ‘gr fame’ = ard R
s (1) ST Tl w1 FTAT-HHT Hh ITH Ty
(3) = (4) i T |
35. ‘IEA TR ueE R - mam d e (2) ST AT ST |
Frrifera 3 @ fora frm s seE@ 2 7 (3) == 3w s |
(1) Teemie fea (2) dwnd= (4) wreEi S |
(3) Tewifers form  (4) dgew T 45. fog o=t g fag =,
36. gh =i f o 2 0 forg o v fofr o o
(1) T (2) & fFl H vy s R
(3) wgm (4) =i (1) SN S
37. ‘e i@ gfe’ F =R HE R ? (é; =T ST
(1) 9o @A (2) e g (4) TrvTae sTER
(3) 3 fiEgaa (4) oM Hiet .
o ” 46. Frialea = arem famor 6 fyfy 382
38. TSI Ueh G o6 T 1 T (1) =aren fafy (2) ety fify
el L ek @) waawms il (4) wafaw Ry
(3) wEr U fas (4) sl Sed B
47. Tr=fafea § stftgemoms s@w e
39. Traml gerdiera 1 e awrd & fR ure w (1) Seiqetes g
g3 7 (2) wIfec =1 TWRETEA HE
(1) ™R (2) 3t ue (3) W 3R e ¥ vy
(3) ufmRfifereme  (4) <ymvamy bR (4) WERyT e 9 et 9 sifieaag wan
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49,

50.
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52,

53l

54.

56.

e s & eftrerer & e & “wied wemE
o aifs et fee R 7

(1) =i g ar

(2) Ffm AR el

(3) itz =mi

(4) TSl 73TEw firrds

“Terce et &t wé

F=ht g Ty wam § @ v o

o 3= q@ IigaT gied IR T T8
- Treh qfF 2 7

(1) fm =i (2) wrrems
(3) wamaTd (4) wEST

R EIRERIRE & ’
(1) @RH F@ER

(2) 3 fofiramms

(3) Eiwa= AT

(4) 3<a HTvE

TR TEITITATER ?
(1) &g

(3)
‘gitema &1 faeim &
(1) ¥ (2)
(3) Wl (4)
‘e’ Yreg 1 9419 B

(1) ™ (2) #H
(3) ¥ (4) ¥

‘gt arerte it g 8 e (@) - T
fore e g T |
(1) snfifees

(3) TcHETdl

S A =i gt g s ard 8

(1) e =afa & gwa |

(2) &2 & fsva el R S waRd |
(3) Toeft <t ey el g =1 &1 |
(4) = Sifaw # e |

(2) ¥«
(4) g

=
peeeief
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Prerfeits STae 91 WRgE g TE 69 56 § 60 T
w1 wE fweg g sw i |

i T R % T A wEd it a9 Swwa, IQW
) i 3l TR ) Freberan & vt & | v & wesw Wl
% ST ) SATE 6 G- WY T T T g i aer A
T R | T AR e AR h @ S w k) o
3 g 3 =TI g3, T T AT ) 7 AR
o7 qTe FaT R, T I 79 ghaw § v T R, @ @i
3} fiftye & Wi ok se= =i g & arg @ SR |
TTTE qE Wga SN & 6 e W w W e B g
¥, Rl 9N, Fewe W e SR | §9 saR A e
R-R A ged w3 A FE A wE S IR,
iR R wH IE foRT 37 WER 3797 Foe W W S8
=T w1 Faia e | PR el d g e s 19 8@
TER & I ) € IR SR § S AW o § fovan s
£ | ) @ T R T FH W W T o0, § FOR
aRT e SR T AT SR g w € |

56. ¥ o S ST STe ATl Wil SH-w1 8 ¢
(1) e H stfiea |
(2) o & TR A
(3) R Y FHI |
(4) TR T, Ieed = (@ 3 8 qw S5
TG AT |

57. TN & §3-82 @Ml 3 GeQ A TH ?
(1) ISR
(2) TEERH
(3) YA T W
(4) Iww SfEH

58. ‘Frdear wise # suwd ofk yerg w1 gt fawe R
(1) i+ se@ +am

2) FrR+ad+a
(3) Tt + =@ + o
(4) PR +s@+m
59. ‘FgU N waaEs T
(1) @ (2) wREE
(3) ehTEEl (4) STHTILET
60, ‘a1l wawH P T’ ¥Rt wy ? o
(1) @iyt (2) iy
(3) few (4) wnefl
[ P.T.O, |
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W - 111 / PART - III
WINT - II : 3! / Language - 11 : ENGLISH

61. Choose the correct sentence. 66. Give one word substitution for :
(1) The committee was divided on this The scientific study of insects.
point, (1) Mycology (2) Entomology
(2] The committee was one on this point. (3) Meteorology (4) Criminology ;
(3) The committee have one on this 67. Point out the correct direct speech of thé_
peint. following. %
(%) The committee were one on this point. I asked why he was looking through th",:--'r
o ; ; hole.
62. Which of the following is an example of key "
Simile ? 1) “Why sre you Ipoling Cirmigh the
T ; keyhole ?’I said.
(1) Hm‘e V is sitting on her face (2) ‘Do not look through the keyhole’ I
(2) Life is a dream said.
(3) Alie has no legs (3) You are looking through the keyhole ?’
(%) 1wandered lonely as a cloud I said.
‘ : 2
63. Change the following sentence into Active (%) IAre_ﬁou nsieinng through tve fecylite ]
Voice. 5
“The visitors were shown the new-born by 68. Put the verbs in brackets into the correct
| Wa—— present tense. .
(1) The woman showed the visitors the My daughter never (write) to me so I never
st Sarn (know) what she (do).
; . (1) My daughter never writes to me so I
(2) Eh;“ iR has shown the new-born never know what she is doing.
o visitors. _ , (2) My daughter never write to me so I
(3) The woman might have shown the never knew what she does.
new-born. (3) My daughter never writes to me so 1
(4) The new-born was shown to the visitors never knew what she does.
by the woman. (4) My daughter never wrote to me so I
64. Select the antonym for the word. HEE iy mhiat ahe: e
Aidrere) 69. Pick out the correct synonym of the word,
(1) Intmical 'Cantax?kerous’
(2) Friendly g; g‘“sy 1
(3) Unwilling Plarre FEREy
: (3) Disrespectful
(4) Hostile (4) Rash
65. Fill in1 thetzlank with correct word to 70.  Pick out the sentence that has a
complete the proverb. demonstrative adjective in it.
“Blood is than water.” (1) Each of them received ten rupees.
(1) Purer (2) This kind of question is often asked in
(2) Thicker examinations.
3 Pribious (3) His written statement differs from his
. oral one,
(4) Thinner
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; stions | 74. Why is a helicopter used bulanc
that follow (Q. No. 71 to 75) by selecting  the i T sunds Ph — a'n am e?
A _ easily
H’e_“c"‘ptm are yvery different from airplanes. (2) It crosses all difficulties of traffic
They can do three things that airplanes cannot (3) It can fire figh ‘
do. First, when airplanes move upward, they PRNGERGT
must also move forward, but helicopters can (4) Its movement can be manoeuvred
move straight up without moving ahead. Second, casily
helicopters / . i R
e njl:d TT(}I‘I fly l?aclcxvnrd, which ax'rplnm.s 75. Point out the grammatical category of the
canne '0. 111(?, hehcopters can use their rotors underlined word Yery’ in the ab
to h_____‘m'er in the air, which is impossible for planes. W, . ‘l_ GV? e
Helicopters can perform actions that airplanes ot B (2) Adjective
cannot, they are used for different tasks. Since (3) Verb (4) Adverb
helicopters can take off without moving forward :
they do not need a runway for take off, They are T BN k.cPt E
used in congested areas where there is no room (H An aplary. (2) A nursery
for airplanes or in isolated areas, which do not (3) Anaquarium  (4) A pantry
| have airports. Be(l:ause 'thc?y can hover, they are 77. The idiom ‘green-eyed monster’ means
. used on fire fighting missions to drop water on b
fires. They are used in logging operations to lift 3] "ot a}'lgry
trees out of forests. Helicopters are used as air (2) To be sick
ambulances to airlift patients out of situations, (3) To be blind
which are difficult to reach, by conventional (4) To be jealous
ambulances. The police use helicopters to follow . < :
suspects on the ground or to search for cars on 78. Select the sentence in which the article has
: the ground. Of course, helicopters have military been wrongly used.
E uses because of their design and capabilities. (1) A pupil should obey his teacher.
l 71. The word ‘congested’ in the passage (2) Twelve inches make a foot.
i means (3) He is a European.
: e place can be accessed by police vans e is a M.A.
{ (1) Thepl be ed by poli (4) HeisaM
| (2) The place has no place 7 Pick :
5 1 The vleve has sumudh ol siuke diis - [ 1c‘ the correct question tag from the
g to Bem options.
'1 (4) The place is roomy People shouldn’t drink and drive,
| 1) isn’tit?
72. A helicopter can hover while an aeroplane () 1 : %
‘ cannot, according to the passage. ‘Hover’ (2) should not they
in the passage means (3) shall they ?
(1) Go backward in the air (4) should they ?
(2) Move straight up in the air 80. Point out the part that has an error in the
(3) Fly sideways | Bt P—
t at one place 1in the air )
4] oy P You are learning English/for the last one
| 73. Point out the grammatical category of the A B
] word ‘perform’ in the passage. )
: (1) Adverb year/but you show/no improvement at all,
i (2) Verb Cc D
i (3) Helping verb (1) C (2 B
(4) Noun (3) D 4) A
Paper - 2/B [P.T.O.
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% "To chew the cud’ correctly means
(1) To meditate

(2) To die on duty

(3) To inculcate virtues

(4) Contrive against somecone

Complete the following sentence with most
appropriate choice.

‘He was very much ashamed
mischief.’

(1) with

(2) of

(3) over

(4) for

Complete the following sentence with
appropriate choice.

! he stood first, he would have
gone to America.’
(1) Have

(3) Anyways

82.
his

83.

(2) Had
@) If

Fill in the blank.

‘Of the sword and pen the is
more powerful.’

(1) latter

(2) later

(3) last

(4) last one

84.

Which prefix can be used with the following
words ?

behave, guide, use

(1) mis

(2) dis

(3) re

(4) in

85.

Read the following passage and answer the
questions from 86 to 90 based on it.

Work expands so as to fill the time available
for its completion. The general recognition of this
fact is shown in the proverbial phrase, ‘It is the
busiest man who has time to spare.’ Thus, an
elderly lady at leisure can spend the entire day
writing a postcard to her niece. An hour will be
spent in finding the postcard, another hunting
for spectacles, half an hour to search for the
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arter in composition
iding whether or not
g to the pillar box
| effort that would occupy
minutes, all told, may in
other person completely
f doubt, anxiety and

ur and a qu

h
address, an no - dec

and twenty minutes i
to take an umbrella w
in the street. The tota
a busy man for three
this fashion leave an
exhausted after a day 0

toil.

86 | time spent by the elderly

ostcard ?
d five minutes

What is the tota
lady in writing a p
(1) Four hours an
(2) A full day

(3) Half an hour
(4) Three minutes

What happens when the time to be spent
on some work increases ? '

(1) The work consumes all the time

(2) The work is done leisurely '

(3) The work needs additional time

(4) The work is done smoothly

87.

What does the expression ‘pillar box’ stand
for ?

(1) Box office

(2) A box in the pillar

(3) A pillar-type post box

(4) A box attached to the pillar

88,

89. Who is the person likely to take more time

to do work ?

(1) A man of leisure

(2) An elderly person
(3) An exhausted person

(4) A busy man

90. Point out the most appropriate explanation

of the sentence.

‘Work expands so as to fill the time available -

for its completion.’

(1) Ifyou have more time, you can do more

work,

(2) Whatever time is available for a given
amount of work, all of it will be used.
(3) Elfyou lmvi::i some important work to.
0, you should always h
additional time, * o som
(4)

The more work there is to be done, the
more the time needed. ; LAY

:
\
|



https://icecreamapps.com/PDF-Editor/upgrade.html?v=2.56&t=9

This paper has been downloaded from the Grow More Online Study App

61.

62.
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64.

65.

66,

67.

63‘

W - 11 / PART - III
oTaT - I1 : @&ha / Language — 11 : SANSKRIT

‘Ffare’ 3 firn R ogET B 2 7

(1) TEFIFER  (2) HH F AR
3) Tredeagan  (4) i * IEER
It et S s R ? -
(1) 37 (&) (2) 47 (¥arfew)
(3) 34 (Vi) (4) 74 (SEw)
T WS hTA: | W YW goT

(1) ST (2) e T
(3) TG (4) ¥&: HaT
‘gRere:” IETE R

(1) HaRa

(2) =gelT qegRy

(3) Sf e =

(4) feran qeges

‘' urg g TR I T A SR
(1) (2) iR
(3) (4) v

‘ot farm T gerfa’ S AT aitEd g
(1) T fador it daa
(2) = s m R
(3) T fawmg M daa
(4) T fauma m g

‘1r%: fired wrsafa’ a1 ar=a fad g
(1) Tpeon fared: W
(2) weon fired qread
(3) Teon fire: yraafd
() e fre: o
‘arratfaa wrgeh amdufared’ fd § v
SR 2
(1) ®4h
(3) v

(2) 39HI
(4) dH=
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69. AT FI AGZ A= AT @~ TH A F
T AT BT
(1) =TT Higs =g |
(2) aTCTFE HigsH = |
(3) @TeIehId Higeh U= |
(4) =T OTee U= |

70. i ®R-w1 oy ‘wevmE waEa T e 7

(1) EHaEaETq
(2) AudiEEiEy
(3) RmmeTEe,
(4) <SviiEERH
71. WY U, I THR, I99 [5Y, THESEE €9 8
(1) =% (2) ==
(3) wNET (4) wH
72. Tagf¥ai % fee fafa & g waiius < s
AR ?

(1) &7 % T g
(2) #=a-3%4 FHHT T
(3) Themi & g
(4) FEH T@

St - PR T 3 S e e v 73 8 75
T 1 §el faehed g Ie difvw |

R ITHCH TR 370 Femd | RIgae SeaeE:
Hﬁm:w:ﬁlﬁ:lmmmm
adfd | AR a1 W S IR 9 wsfy s
ft faumeaf | RIS 7w wig g |
S~ TR F, A, S ee: 3w |
GV §FINE: G Ug el )

Butiico L I tiRCares s %EFE’@‘ETUTEFUTFR\ | FeqaEnd
gumﬁaﬁﬂ:@ﬁﬁm@qﬁ%mﬁﬁ o | R
eIl O O | W <uif, o a5 e |
vy qlTwRTET gy | T iy g gwiE | 9E:
mmﬁ\lm:mﬁm:@mﬁlw
W W SIY: | AT e, sy 0
o Hedi Wiag Ty | :
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T3,  HEEYON HET: wafy

gl bl B el 82, QX e W wan e
(3) w@-dda: 4 St A3} S o
(4) ®-gava: (2) W ey
74, ‘via' Ry (3) W‘Tﬁl’%
(1) M 2 3 (4) T e
(@) sk (4) 83, WA W ECH Y 7
75. e WEw R ity (1) (2) 3
(1) =Ty @) 4 (4) =
(2) vy 84, ‘TN # T § 7
(3) wieTREiy -
@) (1) fig (2) wghfy
PRy (3) &= (4) TegEa
76, ‘qgl U R 85. ‘zayw.’
. . + QUL YT T R -F1 & 7
(1) mﬁﬁiﬁlﬁfﬁmﬁ (1) HeaH qo9 THae
2) FprowEs (2) 5o e e
(3) ey # (3) wew qey fimem
(4) TeoeicwHy 7 (4) o GR9 TgEE
77, TN-TEA % W G0 I B 2 86. vififed Wi § # ‘wpa’ T ?
(1) P d (o) s (1) T (2) fow
() wufEm | (4) T if (3) Amf 4) =
78. ‘vafSaaws e e’ § ‘wafSse: R 87. WA TR SRy’ i fowre A
fordigm @ 7 (1) 9=t wrat e w0 |
(1) W= = (2) =TvE TS (2) w9t Wt a= g |
(3) R (4) STTE (3) wueht wrk: am @ |
(4) waet = vrat = |
79. TUF SRR B B
(1) T grefen gar sreles avtae 9 wREh 88. T MY, T THN, WorH RV, SEEH w9 R
(2) v avfgg! € (1) ¥ @) ==
3) ¥ W e 35 ot < @) = (@) ¥
(4) wrefs auigmgt i Frgh 89. ‘i + SR ¥ aR AR ?
(1) gfxwfy @) e
80, dueere
il (3) wwww Yy (4) & wfy
(1) o goii = (2) Sttt
(3) w&ii = (4) Tl sossH! @ 90. W\ W g T B ?
- : (1) wandah
81, ‘& W w AR (2) =
(1) = (2) s (3) A W e
(3) f 4 R 4) ¥
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_ WWT-1V (1) / PART - IV (1)
TTfoTe vel faw / MATHEMATICS AND SCIENCE

ﬁ—mﬁm%mﬁgmmm
(1) g

(2) s«

(3) FIUfRa

(4) W SrieTaEe

T T 9 UH A G iRt ¥ 6 g5
EIRIET

(1) wifiem

(2) fedfe

(3) TR

(4) T

e o Ffirend ged aré mweh 2
(1) ev=mm

(2) Fpd

3) &3

(4) 3™

TSR THTAfS 9 @ BT R
(1) FETeEge

(2) o=

(3) W=

4) e

Freafafes & #-1 sva Refm HR ?
(1) A 3r

(2) UEhIfsieh 3TeeA

(3) T v

(4) i 3T

Fr=afafea § & - Rfermm = g wdi g ?

(1) Sufte wm (2)
(3) EEFId (4) e
Uk UTg M’ 37l Q FRaT R TTEEISH W e
W R, Uiy Ao § fERan 9t G e T

Qfirer a1 @ | M2 =t g |
(1) Cu (2) Mg
(3) Ca (4) Na
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94.

95.

96.

97,
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¢

The source of oxygen liberated as byprod
during photosynthesis is 3

(1)
(2)
(3)
(4)

Glucose

Water
Chlorophyll
Carbon dioxide

The component of blood that prevents its
clotting in intact blood vessels is

(1) Thrombin

(2) Heparin

(3) Haemoglobin

(4) Antibody

Islets of Langerhans are present in
(1)
(2)
(3)
(4)

Pancreas
Liver
Heart
Stomach

Enzymes are chemically
(1) Carbohydrate

(2) Acid

(3) Protein

(4) Lipid

Which of the following acid is also a vitamin ?
(1) Malic acid

(2) Ascorbic acid

(3) Palmitic acid

(4) Formic acid

Which of the following is not a constituent
of petroleum ?
(1) Paraffin wax (2) Coke

(3) Lubricating oil (4) Petrol

A metal ‘M’ does not liberate hydrogen from
acids, but reacts with oxygen to give a black
colour product. Identify ‘M.
(1) Cu (2) Mg
(3) Ca (4) Na
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98. Fm=fafta 4 @ frad vomyati 6 den sifirmm
gl ?
(1) CH,%16¢g (2) CO, ¥ 16¢g
(3) O,%16¢ (4) N,%16g

99. Ufiefiw i wfafeett #1 wanmamen ¥ =i & frgs
T fanfea s @ 7
(1) z‘rérgmﬁmgai
(2) KMnO,/OH/H,0

(3) efem feeram
(4) Br,/H,0
100. 22 13 A@fei 1 3 e 9 1 arfadem 6
a1 §ET +2 8 ?
(1) NaoO, (2) Na,0
(3) NaO, (4) OF,
101. 10 et swamé & wfy a6 #§ 20 wefeT a9 20
ot 2 | 907 =1 quTeed @
(1) 75 & (2) 50 Tt
(3) 100 i (4) 253
102. aﬁwﬁrawmﬁ%mmm:%am%
21, A1 I F e e T ATEiE Bl
. 9
(1) 3 (2) 8
3 8
@ 3 “ 3
103. wie amafm & “a1df grar’’ =5 1 FHe g e 7
(1) = (2) =W
(3) &%z (4) =
104, s =1 um grad Fem fores sem A ga e ?
(1), @A (2) Ham
(3) zeAnH (4) %l
105. @zt Fwar (1101), % god Z9WEE HE wdi 8
(1) 13 (2) 11
(3) 15 (4) 9
106, 131 qrer #1 Feerdr 2 7
(1) Gimmeat (2) fodiwea
(3) whiwe (4) e
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105.

106.

Which of the following has maximum
number of atoms ?
(1) 16 gof CH,

(3) 16gof0Q,

(2) 16 gofCO,
() 16 gof N,

In laboratory, ethylene and acetylene can
be distinguished by
(1) Tollen’s reagent

]
(2) KMnO,/OH/H,0
(3) Fehling solution
(4) Br,/H,0

In which of the given compound oxidation
number of oxygen is +2 ?

(1) NaO, (2) Na,0
(8) NaO, (4) OF,
Sound waves consist of 20 compressions

and 20 rare in 10 meter length. The
wavelength of wave is :

(1) 75cm (2) 50 cm
(3) 100 cm (4) 25 cm
If % and % be respectively the absolute

refractive index of water and glass, then the
refractive index of glass relative to water is

(1) (2)
(3)

PlOoW|L
O oo |0

(4)

In Household wiring, what is the colour of
“Earth wire” ?

(1) Black (2) Green

(3) White (4) Red

Kirchhoff’s current law based on conservation of
(1) Charge (2) Momentum

(3) Mass (4) Energy

The decimal number equivalent of binary
number (1101), is

(1) 13 (2) 11
(3) 15 (4) 9

What is silk farming ?

(1) Sericulture (2) Pisciculture
(3) Agriculture (4) Epiculture
[P.T.O.
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109,

110,

112,

113.

111I

s oo 4 wleeg ) A e shaui 0§
(1) sl aen sndhanfew
(2) vl wer AN e
(3)  wwavel aer iR R
(4)  vaela aun R

Feestferfee if 2 wer-var avler; afvail 7 s
Ty T 7

(1) aendiver

(2) @il

(3) e fser

(4) wignn

aw S S ot ) (317) ) qul) vy
alrgan B

(1) Fueern (udehferan)

(2) Imfey (wfders)

(3) =y (i)

(1) qu Faw

allsii o1 st (fafeian) sigsor g B
(1) el i

(2) Vg i

(3) =

(4) ot i

F1 w1 ug, 1, A e

(1) & (2) anf

(3) @ (4) S

afd P, F AU A FA1: 1, 6 UE A% )
wafife % 8, &)

P
(2) PEK

(4) Pul

A

afd 5 Wores 7 vk Aw) w1 AT 10 e O
25 WA W S, T g 9w ger war

(1) 3w

(2) 2 "

(3) 4 o

(4) 1 919%

=2

A

-Fc v
3 —_
(3) n
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All organlems belonglng to King

Protlata are
(1) Multicellular and prolmryot{’
(2) Unieellular and prokaryot]
(3) Multlcellular and eukaryotic
(4) Unicellular and rulmryotlc

Which of the following plgmcm Is
with the germination of seeds ?
(1) Chlorophyll

(2) Plastocyanin

(3) Xanthophyll

(4) Phytochrome

The tissue that connects one bone with mp_
other bone is called :

(1)
(2)
(3)
(4)

Viviparous germination of seeds occur in
(1) Potato

(2) Rhizophora

(3) Sugarcane

(4) Mango -

Epithelium
Cartilage
Ligaments
Adipoase tissue

SI unit of heat is
(1) Calorie
(3) Watt

(2) Erg
(4) Joule

IfP, F and A represent pressure, force and
area respectively, then

m FaLf 3] Pel
A 2 P=
@ PaF 4 vl

If the momentum
10 unit to 25 unit
force acting on it (s
(1) 3 unit
(2) 2 unit
(3) 4 unit
(4) 1 unit

of body increases from
In 5 sec, then working
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4, TG & A 0 s s e e opdts (114,
i
(1) &= a4 fi't*-'{"i 2141 1 Eled A
(2) F1 AL A A g wn s v 3
(3) wran e fagga 240 o g o R
(4) i L A qar s w8 gemers v 2
15, el g Ak g e e e Y 115.
(1) 90° (2) 45°
(3) 135° (4) 0
16, urEfes @ w5 R (monomer) ¥4 3 116.
(1) 24
(2) A
(3) AT
(4) frnde

17, il AR A DnE Fr-m e 7 =
(1) Asimea
(2] ATENFZA
b (3) AT
L 4) nFE

wifos MfnEl % At § 7w £ 5 118,
e 2

(1) 4n+ 2
(2) 4n + ]
(3) 2n+ 4
(4) 4n

[19. 125 F g (o) % YA g F ToaersT | 119,
: v faan

(1} 73

(2) sy A feen

(3) g zaE
S O
120, fmt i & % fanmi fagm oA 2 7 120.
(1) wl
(2) %4
(3) 3
(4) 7
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Mica is used in 'J;'J:d;"s’r':-f USRI ecrine i ;1

(1) Good conductor of Stk heat and

(24 Bad conductnr of hezt but good
conductor of electricity

(3) Bad conductor of both heat 2nd
electricity

(4} Good conductor of hegt bet bed

conductor of electricity

clectricity

Angle of dip 2t magnstic pole of earth is
(1y 96° i2) 45°

3) 1357 4 o

The monomer of natural rubberis

(1) Terylene - S

(2) Isoprene

(3) Orion : -
(4) Neoprene ;
Which compound has highest boiiing point ?
(1) Nevpentane : P

(2} lsopentzne
(3) Isobutane
(4} n-pentzne

[
A
9

The number of m-electrons in molecule
aromatic compound is :

(1} 4n+2

(2) 4n~+1

(3) 2n~+4

(4} 4n

Rutheriord’s alpha (o parucies scanseming
experiment resulted into discovery of

{1} Electron

(2) Nucleus in the atom

(3) Atomic mass

(4) Proton

LY

Which one of the {sliowing is no

(L
(2]

heterogenous mixture ?
(1) Smake
(2] Milk
(3} Jeliy
{4) Ar
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In a religious gathering the fa_ ﬁfngmbe'r._.g..

i et 5 h1 gt 121. :

o33, TR G 31{?1 E[f“a; I W ST of ladies to that of gents was 372 When o0
1 AFAT 3 : 2 AT I.QO KL more gents joined, the ratlo Was revergeq |
sez | ferdt 6 g fee off ? The number of ladies was 7 7" "
(1) 16 (2) 40 (1) 16 (2) 40750 2
(3) 24 (4) 36 (3) 24 Koy o8 :

122. o S A e a, b, ¢ & e af 122. For three non-zerobrfa:_lﬁnumbers a, b, cif
a_b_c_2a-3b+5 { HKFTED E=E=E=M-me?ﬂ%0ﬂ(isf
T ae a g2 % K
(1) 20 (2) 15 s = L i
(3) 25 (4) 10 (3) 25 % .

123. aR AR BaEATg=d, fFA-B=AT, 123. IfAand B be any two sets such thatA-B=4,
TWANBR then AnBis
(1) B (2) A (1) B 2 A
(3) AUB (4) o 3) AUB (4 ¢

124, 3 FHIHW x2 - bx + ¢ = 0 & YA 31 AN 124, If the roots of the equation x*~bx + ¢ =0 are
‘I\Ul'f'w\' et 'E?I, dAb2-4c? two consecutive integers, then b? —4c is
(1) 0 (3) =1 (1) 0 (2) -1
(3) 2 (4) 1 3) 2 (4) 1

125. 31§ &1 0.9, TR .5, FHAY: 13 37 1989 | 125. ’I‘hg H%g and LCM 101' Itfwo nufml';)ers isb13

: : and 1989 respectively. If one ot the number
2, M T wean 117 @, 9 g@l e is 117, then the other number is
(1) 223 (2) 221 (1) 223 2) 221
(3) 225 (4) 222 (3) 225 (4) 222

126. & G940 0 &0 & &A1 40 ® | I WU9 | 126. The number of observations in a survey is
10 Je7uli 1 H1ed 4.5 T 99 AT 3.5 7, AR 40. If the mean of first 10 observations is
a3 3 4.5 and that of remaining is 3.5, then the

&0 ST HTE mean of whole survey is
il Bm i g
) : ; 4) 2.82
' 127. 14 9 %R 9 U 3 99 & iftehan smEae @ | 127, A right circular cylinder of maximum
T 5 i SIe el SITdm 8 | $9 S 1 qRgut volume is cut from a solid cube of edge 14 cm.
S 7 The total surface of cylinder is
(1) 2464 @ (2) 1134 3P (1) 2464 cm?® (2) 1134 cm?
(3) 616 @ (4) 924 TH© (3) 616 cm? (4) 924 cm®

128. S50 WG TE§ | 8 & I 53 | § wer 128. There are 50 numbers. Each number is

AT & o ur wEal e 35% i‘qﬁﬂé subtracted from 53 and the mean of the
T — numbers so obtained is —3.5. The mean of
q&q the given numbers is |
(1) 46.5 (2) 53.5 (1) 46.5 (2) 53.5 |
(3) 56.5 (4) 49.5 (8) 56.5 (4) 49.5 |

5 |

129, TEIUU 5,9, 14, 15, x + 1, 2x - 13, 26, 129. Tenobservations 5,9, 14,15, x+ 1, 2x— 13,
30, 32, 34 F AE FA & Hare frar s | 261:,1 BO,TI;Q, 34 are written in an ascending
P g 348 | st ?;eiréluceoae-dlan of the data is 24. Find ;
(1) 21 (2) 19 (1) 21 (2) 19
(3) 16 (4) 20 (3) 16 (4) 20
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= 132

L 134.

- 135.

. 136.

3 137

133.

w2 44 R 0 o A A B ) 5l e
&1 foraf) =a /sarr 12 3 A =ead 7
(1) 117 %" (2) 11 7R SR
(3) 15T FH (4) 15 Trd surer

afe a, a+2 a+4aﬁwa@nﬁa dl ‘a
mﬁmﬁ

(1) dH (2) @

(3) o & ST (4) wH

i 1 ) @ ) e e o ot
(1) 9000 (2) 1899

(3) 9801 (4) 9999

& x + 1 x — 1 ¥ 9T fegr s, & 99 =0
o ? .
(1) 2 (2) 1

(3) - 4) 0
a%aasagﬁac%mﬁ?aawgmiﬁ?ﬁ
AUANB) T

(1) A ) AUB

3) B 4) AnB

T 11T S ST Wi 5% e St § | Ak adaE
# 3w Tiie o S 4410 Y, @ 2 99 gd 39 e
<6l SEE foaH! off ?

(1) 4200 (2) 4430

(3) 4000 (4) 4420

THYPH-H FAA AR 7

(1) i =1 wg o oft Frsgsit <t wmeTa vel
ST gadl & |

(2) simfr H gg for off wfien 1 uer S
Tl B |

(3) e a3 formr oft wif@eht T i weh] € |

(4) e = faftr et S sfivmira, st
TenTfe wh g W it R |

IO ST T EA T e S O e sl e 7

(1) et fog S@et 376 gL RTT

(2) Sael Hival SgeRt 31 € TG

(3) e el =1 ek € @ A UG

(4) fnefifdi 1 3eh) fereram amrare @ fomalt

& o forg Wreanfed e

130.

131.

132.

133.

134.

135.

136.

137,

44 cows can graze a field in 9 days, How
many less/more cows will graze thc same -
field in 12 days ?

(1) 11 cows less . (2)

: 1-1' cqws mo_r(_: :
(3) 15cowsless — (4) .

15 c’ow’s HIOPE i 0t

[fa,a+2 a*4are Prime numbers theni"‘"
the number of values of ‘a’ are -
(1) Three (2) Two " _

(3) More than three (4) One - '

Find the biggest 4 dtgxt number whxch is a :
perfect square.

(1) 9000 { } 1899,

(38) 9801 417 999977 :
When x'? + 1is dmded byx 1 then What ;
is the remainder ?

(1) 2 [2} 1

(3) -1 4) O

If A and B are non-empty subsets of a set C,
then A U (A n B) is equal to

(1) A 2) AUB
(3) B 4 AnB

The population of a village increases by
5% yearly. If at present the population
of the village is 4410, then what was the
population before 2 years ?

(1) 4200 (2) 4430

(3) 4000 (4) 4420

Which of the following statement is true ?

(1) Congruence of triangles can be learnt
without learning algebra.

(2) Equations can be learnt without
learning arithmetic.

(3) Statistics can be learnt without
learning algebra.

(4) Different branches of mathematics viz.
Algebra, Geometry etc. are dependent
on each other.

Which among the following is the best

pedagogical way to teach mathematics ?

(1) Find the gaps and address only them

(2) Find the weakness and teach only
those parts

(3) Teach every student with the same
approach

(4) Motivate the learners to develop their
existing capabilities
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138. IR A W Iew B F Ia9 } 25% A , @t B | 138,
a9 A % a6 A fra wRera a2 7
(1) 20% (2) 18%
(3) 15% (4) 25%
139. 2 rHfas densil sa 8 § | aft o gl | 139,
mﬁn%%,maﬁmamma‘aﬁm
(1) 2,6 (2) 4,4
(3) 3,5 4 1,7
140. Tl iR 71 mite o frg R agem ¥ 1 | 140,
afe fuan o amn W @ % 9= T 4,000 2, &)
TR ) $ 3 e anft ?
(1) % 60,000
(2) 40,000
(3) % 30,000
_ (4) 50,000
g’?} 141, SifeH U 9% 91 36 e9 @ 10% FHWEhedr | 141,
' & 3R 3699 qe9 & 10% i X 3=a1 & | 35
R
2, 74
(1) 225% @) 225%
(3) FHABZ T (4 20%
142. A wfEm A2 - px + 54 =0F @ 2: 3% 142,
Foa H E, A p HAF R
(1) <21 @ 2
(3) 15 4) 18
143. 3] ol g WAl i Segdl H U 25 : 64 | 143,
AYT 37k THI BT ATAE 4 : 52 | 396 A
T 3ITA 2
(1) 5:8 (2) 1:4
B) 1:2 (4) 1:3
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If A’s salary is 25% more t‘haﬁ_-__tha
then how much percent is B's sala
than that of A?
(1) 20%
(3) 15%

um of two natural numbers is 8. Det
tshe numbers if the sum of their reciprocs

(2) 18%
(4) 25%.

is-s—-

15
(1) 2,6 (2) 4,4
(3) 3,5 [4) 1,7

The expenditure of a family in a month
is given in figure. If the difference of
expenditure between education and travel™
is T 4,000; what will be the total income o

the family ?

Education HDU;S?R‘:N
25% 2
Travel
Savings
20%

15%
(1) ¥ 60,000
(2) ¥ 40,000
(8) ¥ 30,000
(4) 50,000

Jatin buys an article for 10% less than its
value and sells it for 10% more than its
value, his gain is

2
1) 2224 2) 22%%
(3) None of these (4) 20%

If the roots of the equation x? - px+54=0
are in the ratio 2 ; 3, then the value of p is
(1) -21 @] 21
(3) 15 (4) 18

Ratio of the heights of two right circular
fzones 18 25 : 64 and ratio of their diameters
18 4 : 5. The ratio of their volumes is

(1) S:8 (2) i .

(38) 1:2 4) 1:3



https://icecreamapps.com/PDF-Editor/upgrade.html?v=2.56&t=9

This paper has been downloaded from the Grow More Online Study App

R A = {x: x WIS BELOW %1 0% 4 B) W | 144, IfA = {x: x is a letter in word BELOW},

B = {x : X Y158 WOOL %1 U 3781 &) e B = {x: xis a letter in word WOOL} and
C=A-BH, M C ¥ wmgedt f wea § = A=Hythen the aumberol mubpss of
(1) 3 (2) 2 (1) 3 @) 2
(3) 4 (4) 1 (3) 4 s . i
s arEgys o fawol 10 @ g 04 3R §, v | 146, The perimeter of a rhombus whose
it @ diagonals are 10 cm and 24 cm is a0
(1) 68dd (2) 34 drft (1) 68 cm (2) 34cm ST
@) s2@h (4) 120 % (3) 52 cm (4 120emy e
T.{EH?EH‘? 25 @@ T4 i §ft e F@ F A | 146, A company makes aﬁ'advertisﬁr_nent to
TRt =T fagmae wtelt R | 3R we S oifa collect a capital of Rs, 25 lacs of shares. If
100 593 &, N FeE : the printed price of one share is Rs. 100,
%m- i ;‘ﬁ > T SRR R e then find the number of shares circulated
hecl by the company : :Fasieia s g
(1) 30000 TR (2) 25000 % (1) 30000 shares (2) 25000 shares
(3) 15000 =W (4) 20000 W (3) 15000 shares (4) 20000 shares
aTe1 i 52 Tl <1 TTE § U U W1 & e W | 147, From a pack of 52 p‘lzjxging c$ds o':;c ];:Erd
: is drawn at random. What is the probability
& | 71 freRat § o6 o gopH o & A @ 7 | that the card is a spade or an ace ?
8 6 : 8 6
=2 = 1) = ] i
(1) T (2) 13 (1) T (2) 13
e 2 bty
2 —_ 3). = 4
3) = 4 13 3) = %) 13

f 3 ABCD tF T agyfai 8 |Ta Fagm | 148. In figure ABCD is a cyclic quadrilateral,
then the ordered pair (x, y) is

(x,y) &
A B Y il B
‘3'? 8 4% -::'i .9 4x>
% 0° *CD. ; +|20n kau
N\ ud ” A A " g
(1) (15° 35%) (2) (10°, 15°) (1) (15°, 35°) (2) (10° 15°)
(3) (40°, 35°) (4) (15°, 257 (3) (40°, 35°) (4) (15°, 259

"-;'149 % 3 fir v % o P atfegl o1 agere 27 %7 | 149. Forwhat value of x the mode of the following

7,26, 25,25 data is 27 ?
25, 26, 27, 23, 27, 26, 24, X, 2 25, 26, 27, 23, 27, 26, 24, x, 27, 26, 25, 25

(1) 25 (2) 24 (1) 25 (2) 24
(3 26 (4) 27 - (3) 26 (4) 27
: 0. AEx=2,y=1 2 =-38),d x*+y*+2°-3xyz | 160. Ifx":z-)“'l,z“~3,thenx“+y°+za—-3xyz
. 3 ' ' equals '
i &' (1) 8 @) 2
il 8 @) o @) 6

(3) O 4) 6
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91, dF-T-genet ) g e < 7 91.
(1) 3y
(2) R
(3) rvwme gl
(4) HEWE TSE!

92, A @ e ra e i i a1 ot ? 92,
(1) wdasdq
(2) == fasrmie
(3) wr=<
(4) S

93. fm=fafas el 4 & iR ‘e wersmar 2 ? 93.
(1) IRsT (2) ¥
(3) mESTEl (4) ®mER

94. TS T faoF FC I1a T S o 94,
(1) =& (2) b
(3) =A@ (4) W

95. o e forer T & wiffem & 7 95,
(1) =" (2) TR
(@) fow (4) FER

96. U=y et 7 a1ef 2 96.
(1) =edt S=mE & wry fRR asq
(2) w@d S8 & WY Tl aIIHH
(3) =gd SuTs & WY IR qUSY
(4) =gt SF9TE & WY g aUHy

97. TefaRen semmEl 4 @ 97 fe= aimm 97.
grafag g ?
(1) ETE g
(2) M= svay 4a g
(3) Tfa= arr
(4) et g

98. TR o gfirg veida 71 an
(1) Taferg = ’
(2) ITCEUE H
(3) femmeet v =
(4) 1P U it
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Who is the founder of Din-i-Ilah; 2
(1) Akbar

(2) Humayun

(3) Shershah Suri

(4) Muhammad Gajanavi

In whose reign did Hsuan-tsang come to
India ?

(1) Harshavardhan

(2) Chandragupta Vikramaditya

(3) Skandgupta

(4) Samudragupta

Who among the following emperors was
called ‘Qalandar’ ?

(1) Akbar (2) Humayun

(3) Shahjahan (4) Babur

The Governor General, who partitioned

Bengal was
(1) Minto (2) Canning
(3) Mayo (4) Curzon

Kunwar Singh was the Zamindar of which
State ?

(1) Avadh
(3) Bitthore

(2)
(4)
Inversion of temperature means

(1) Constant temperature with height
(2) Increase of temperature with height
(3) Fluctuating temperature with height
(4) Decrease of temperature with height

Jagdishpur
Barrack-pore

Which one of the following reservoirs is
associated with Rihand Project ?

(1) Jawahar Sagar

(2) Govind Ballabh Pant Sagar
(3) Govind Sagar

(4) Gandhi Sagar

Shipki La is the famous mountain pass of
(1) Sikkim

(2) Uttarakhand
(3) Himachal Pradesh
(4) Jammu and Kashmir
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L 99. g st 3 v ) - %
QIY-WY T g1 711k
(1) Femor qales
(2) fovevr faftr =1
(3) ¥ A =g 7
(4) fem & 3wl &

e fveror ¥ waifies 3ol weras avl
(1) w9 FE

(2) WA

(3) =R

(4) FAUS
‘el & @ 9 ey
(1) yed (2) iy

E (3) areHifs (4) %ﬁarrra

facfa g effe e vt e e o g o 7

(1) frgem
(2) WETIEHAR
(3) A
(4) 339¥%

100.

I ‘gATed @MY T AT SHEwET o1
(1) feoehtd (2) e it J
(3) Freeud (4) ST H

T T T T g ol _

(1) 1875%. #. (2) 18707%. 4.
(3) 18807%. %, (4) 18657%. 7.

e 8 @ 2 Frerd e | grated g 8 7

(1) HewEHIe @l

(2) TR wEd

(3) whe

(4) v fafee

Tt GRS S -8 S e AR ¥
gafoa g 7

(1) w1

‘ (2) Wl

(3) WMV

(4) W

106.
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Social studies teacher should have the =
knowledge of subject matter 43 well et
(1) Teaching technology = -

(2) Teaching methods

(3) None of these

(4) Educational objectives |

The most useful teaching material for the
Geography is : )

(1) Flash Card

(2) Map

(3) Barometer

(4) Calendar

‘Ashtadhyayee’ was \r{fitten by
(1) Shukadeva (2) Panini
(3) Valmiki (4) Vedavyas

The Second Buddhist Council was held

' during the reign of

(1) Shishunaga

(2) Mahapadmananda
(38) Kalashoka

(4) Udayabhadra

Akbar constructed ‘badat-Khana’ in
(1) Delhi (2) Fatehpur Sikri
(3) Sikandara (4) Agra

The Arya Samaj was founded in the year
(1) 1875 A.D. (2) 1870 A.D.
(3) 1880 A.D. (4) 1865 A.D.

Who among the following was notassociated
with the Kakori case ?

(1) Ashfaqullah Khan

(2) Rajendra Lahiri

(3) Surya Sen

(4) Ramprasad Bismil

Which Part of the Indian Constitution deals
with Fundamental Rights ?

(1) PartIII

(2) Part Il

(3) PartIV

(4) Partl
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107, ) T ) ggg we vy Pt § @ wie-a

108,

109,

110.

111.

112,

113.

et g i e a7

(1) 73 af gauA

(2) 44 af wMuA

(3) 86 @l WY

(4) 42 = gy

SRR =rTer w1 g e @

(1) g¥m (2)

(3) (4) =gaTh
g Fro g aiEr R v yicda
Hfaum & ofentq fora g d e @ 2

(1) i

(2) &= HEh

(3) ovafire fawy

(4) T |
frfeiiea # ¥ S-ar R e Rt A
gEfE R ?

(1) 37F=a% 50

(2) 3T=VT 49

(3) TF=8R 51

(4) 7g=a% 48

e seama swrEET R @
(1) A= wewH

(2) dmEeEH

(3) offewm

(4) oetETg H
Fr=fafaa 9 § & SR-6 sraard s &
AR & 7

(1) 9=

(2) T

(3) TR

(4) w2

e -an =1 4o 4 e uda B 2
(1) Ju-gd I 3

(2) AP

(3) aféaur-gd #i 3w

(4) T 3
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108,

109.

110,

111.

1 12.

113.

of the Constitution of Indie desleom the.
issue of strengthening of the Pdnchaya ¥
Raj ? Hak

73" Amendment “=5h0 0 e
44" Amendment
86" Amendment

42 Amendment

(3)
(4)

The office of International Court of Justice
is situated in L
(1) The Hague (2) London

(38) Paris (4) New York

Population control and family planning':.;:;

Constitution ?

(1) Concurrent list
(2) Union list

(8) Residual subjects
(4) State list

Which one of the following Directive
Principles related to Foreign Policy ?

(1) Article 50

(2) Article 49

(3) Article 51

(4) Article 48

Bhilai steel plant is located in
(1) Madhya Pradesh

(2) Jharkhand

(3) Odisha

(4) Chhattisgarh

i

is listed in which Schedule in the Indian;ij

Which one of the following rocks is an |

example of sedimentary rock ?
(1) Shale

(2) Marble
(8) Granite
(4) Slate

The tail of a comet always points
(1) towards North-East
(2) away from the sun
(3) towards South-East
(4) towards the sun
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114, Fwrffaa § @ 9 sin ¥ wafig A7 ; ' i 3
3 : . . 114.  Which one of the followi PRI,
(1) s with fault ? pe. i_s E;.sslt.l_cmted. 2
(2) :‘{f\ﬁ“c'.i'r;q‘ gmﬂ (]} l-Inglmck
3 (3) 1A {;; ?trite Vel
L ~ . iraben
: 4) wgafy () Anticlinorium
b 115, Preafiion 32 9 vo e
. 1185. q 3k & %3 ¥ ; ek LA
: WA H W I Iwrmfaa wwever TE 7 115, Which one of the following is not o tropical
i (1) =sh desert ? A SRR A
:; (2) anfsen (1) Gobi
: (3) Kalahari
| (4) S (4) Atacama
116, :mrf%m 19 aﬁq-}ﬁ Rreor er arht wer | 116, Which one of the Tollewing isithe most
i AT &y U TR & i N gaffrs suitable teaching aid to show propbrtionafc
SRR size and shape of continents ?
(1) v (1) Globe i |
(2) fova =1 Wil amfiyy (2) Physical map of the world
(3) ¥} A 7 (3) None of these
(4) Tova &1 o wfiy (4) Political map of the world
117. i e i Iy fafer R 117. The suitable method of geography
(1) e fafy teaching is
(2) sTatam fafy (1) Story method
; (2) Discussion method
3) ¥ (3) None of these
1 (4) wmor fafy (4) Tour method
118, W B wHe i e e ) wEE s 118. A universal language of the map can be
HFHdl g understood by way of
(1) Suiaren & o7& gr (1) Alphabets
(2) T fugia (2) Conventional symbols
1 (3) ofifew amfaaia (8) Thematic maps
z 4) =i g (4) Sketch
1 19.  Y-37ahR Y "ret s Fmior g 2 119. U-shaped valley is formed by
. (1) 9aq gm’r (2) &g/ (1) Winds (2) River
f 8) wrmatngm  (4) fewad gm (3) Sea waves (4) Glacier
:-%:120. e Y e 120. The capital of Australia is
1 (1) e (1) Melbourne
ﬁ (2) Fe (2) Canberra
k (3) 30 A H1E A (3) None of these
4) faeh (4) Sydney
aper - 2/B 27 [ P.T.O.
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124,

125.

126.

127.

128,

129,

120.

— === "“‘"‘é-
e = = =G> =1
e

1, - -

=
- —— —_— e
(3] =57ET2 (4) ZHiE=3

:,1'.,- S ENa S ’.ir"Jl =1 _?;-7*1' r?.ﬂ-;i 5.:*:5“%
(1) =7= (12) (2) = (13)
'3; =1 (9) (4) '_31%:(22]

.~. g 'Faa-.‘-” == G141 =141 27
(1} 30 %= (2) 29 @T=A
(3) 31 57=A (4) 25 7T=

T E T b s e e g
IEEEE A TEE TS TR R OEEEAE 7

-

F2 -“rlq = ‘f
/

g S =

';.l' =ri4 :.’]:.:=

"
(4) =T 9A

1

‘e v =
- 1 - g
lem miHT Al [T

(1) 77m1 5

AR A aEa e ?
(2) BEEEER

3) F£8 (4) ==7

T EE-E T A T A R 7

(1) fah (2) =

(3) wrTE (4) 3w

S %] %A A3 5 e i etz 7
(1) 15 2) 12

(3) 22 (4) 9
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122.

123.
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126.

127.

128,

129,

130,
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Who is the writer of ‘Raj i ;
(1) W.G. Archer o pamung,? |
(2) Rai Krishna Das
(3) None of these LR
(4) Ananda K. CoomarasWamyl_ i

Folk Art is associated with
(1) Modern Art

(2) Painting

(3) Pre-Historical Art

(4) Regional Art

Geometrical design is called
(1) Design made in square

(2) Design made by geometrical forms
(3) None of these

(4) Geometrical forms

Aipan is associated with which State ?

(1) Maharashtra (2) Madhya Pradesh
(3) Uttarakhand (4) Uttar Pradesh
How many total numbers of Shrutees are
there in Hindustani Sangeet ?

(1) 12 (2) 13

(3) 09 4) 22

e “ﬂ-—"l- i, :._;');-' g o = N

X

o g e Pl

=21

TH Py B

When “Sports Day” is celebrated ?

(1) 30 August (2) 29 August

(3) 31 August (4) 25 August

Who is the author of the most prominent
book on yoga “Yog Darshan” ?

(1) Maharshi Patanjali

(2) Maharshi Narad

(3) Maharshi Devdatt

(4) Maharshi Bharat

“Zein’ protein is related to which crop ?
(1) Maize (2) Soybean
(3) Oat (4) Paddy

Which breed of cow is dual purpose ?
(1) Sindhi
(3) Tharparkar

(2) Jersey

(4) Gir

India has divided in how many Agro
Climatic Zones ?
(1) 15

(3) 22

(2) 12
(4) 9
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131. H S fm smar @ 131. Saffron is obtained from
(1) g afe & (2) e H (1) Flower stigma (2) Leaf
(8) WEATAISIA  (4) wiorw D (3) Calyx (4) Bud .
132. AFE w0CH gt peft wafert € § 7 132. How many ribs are there in'human__'body ?
(1) = (24) (2) Tslig (26) (1) 24 W, Ty a8 R
(6) JERAES) ) w22 @ 28 iy ligegds ige
133. A.uafl. o e o A A arwma e R 7 133. Which disease is prevented by T.A.B.
ferarel gam Shite) vaccine ;
= Fel @t “ (2)- Reashea (1) Typhoid (2} -Diphtheria
(3) ardt (4) e (3) Pertussis (4} Tuberculosis
134. AU A feaw’ feg e wrn s 2 2 134. On which day in ‘International Yoga Day’
(1) 25 5 (2) 203 f{a]le%rSa‘Ee.?uzle (2) 20“’ June
(3) 28 (4) 21 ~(3), 28" June (4) 21% June
135. & o 1 7iig % wers w I AR 7 135. In which clothes are resin starch used ?
(1) Wt =e (2) e aw (1) Silken clothes (2) Cotton clothes
(3) A a& 4) SN (3) Nylon clothes (4) Woolen clothes
136. Teearh diia i g 3R frga Tt faeme R | 136, How many Shuddh and Vikrit swaraas in
?E'FE‘T% g7 xe : ¥ total are there in Hindustani Sangeet ?
: 1) o7 (2) 08
(1) =id (2) 23 (
3) 11 4 12
(3) =& (4) 9RE (
137. <R ae @ v fre T g fren @ g 7 | 187, With which Gayaki Char Taal is used ?
(1) ¥€u= (2) <A (1) Dhrupad (2) Taraana
(3) = (4) =R (3) Khyal (4) Dhamar
- ¢ LR
&: ‘qereT I Adi o ¢ ' 138. Amongst these who is not a ‘Tabla Player’:
= Eﬁgﬁ;mm " (1) Ram Das Sharma
i3 ;‘m@’ﬁq (2) Zakir Husain
[? i a P (3) Ahmed Jan Thirakwa
}4; 4. ferg wEUs (4) Pt. Kishan Maharaj
' 8 Where was first “National Games” Organised ?
“uedra Tl el siriteE g 139. :
139. Y9¥H :‘:Rcm ) EEE (1) Kolkata (2) Mumbai .
(1) %;;rga;ﬁ'i Jol (4) é oot (3) Chennai (4) New Delhi
(3) . _ "
5 BIEATEIN i 40. “Today India does not need Geeta but needs
140, AN Wﬁ-rﬁmzﬁtréf, o fgiﬁfﬁ : a f'ootl};all ground.” This thought was given
e & |7 @e for fereeeh 4 Segd T e ! ?l}; w;ic? Thinker ?
2 uto
) = i Vivekanand
=T IEcEace (2) Swami Vivekana
(2] Rﬁ (3) Rousseau
: (3) (4) Radhakrishnan
i < feparn a7 141. Community Development Programme was
141. g o g e R R started in the year i
: x 9) 1955 1) 1957 (2) 1955
1) 1957# (2) . (1 (4) 1952
: i (4) 19527 (3) 1960
960
ke - (P.T.O.
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Eﬁ% , : s _ The Supreme Court of India enunciat
142. e 3 T e 3 aRwe S aPad e ) 142 th: Dogtrine  Hasls struchiarn

1 flrgra fean , Constitution in India
(1) ety & A | (1) Golakh Nath case
(2) asor g % A H (2) Sajjan Singh case
(3) AT W % Wi | (3) Keshwanand Bharti case
(4) ViR TR % WA (4) Shankari Prasad case .
143, il wRE % FFg oTs9R ¥ ol Teuute | 143. Underwhich Article of the Indian Constitution,
e Frdrs &t Y i 3 e gefda the Governor has the power to reserve a bill
TEl ) ifed T ? for the President’s assent ? -
(1) =T 200 (2) 3T=O% 108 (1) Article 200 (2) Article 108
(3) TT=3q 213 (4) 3NT=RE 52 (3) Article 213 (4) Article 52
144, W & swreufy o1 fFrate fates nvea g 144. The Vice President of India is elected by the |
o 2 Ror R members of an electoral college consistingof =
LS (1) Elected members of both Houses of
(1) €8E Ml TeHl & fHatfad gew Parliament
: e (2) All members of both Houses of
(2) ©HE S M TEAl o afl TR ol 5
(3) TsE T % Faifud we= (3) Elected members of the Council of
States

(4) TS e e (4) All members of the Council of States

145, Hﬁ?—ﬂ'_l Y Y H U TR © 7 145. Which country is not the member of SAARC ?
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